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Topic:- LIS MPHIL 52

1) “Ontology is a:

[Cuestion ID = 8193]

1. & Beference Service [Option iD= 337E84)

1. Clasxification of internet Bxsed Documents [Option 0= 12767]
3. Extension Service [Option 1D = 13768
4. Cataloguing of Internet based documents [Option 1D = J276%)

Correct Answer -
# Clascification of imbernet Based Documents [Option 1D = 12757

7) Contingency Model of Leadership developed by:

[Question ID = 8194)

1. MoCobvin [Option I = 32770]

I_ Robert House [Gption 1D = 32771)
3. Fred Fiedler [Option 1D = 32772)
4. Herry Foyal [Option 1D = 12773)

Correct Answer -
# Fred Fiedler [Option ID = 32772)

3) Library Legislation refers to the development ol

[Question ID = 8195]

1. Special Libramies

[Option il = 32774]
¥ Public Libraries

[Ootion 1D = 33T7E)
3. Academic Libraries

[Option il = 327THE]
4. Mome of these

[Option 1D = 12777]

Correct Answer --
& Public Libranes

[Option 1D = 12775]

4) “Web of Science' is now maintained by:
[Question ID = 8196]

1. 151 [Option 1D = 3277E)

I_ Clarivate snalytics [Option I = 32779

3. Thomson Rewters [Option i = 12780]

4. EbsooMost [Option ID = 32TE1)

Correct Amswer -
® Clarivate Analytics [Option 1D = 32779

5) Which is the correct logical sequence of the following:
[Question ID = 8197

1. Data, information, knowledge, wizdom [Option 1D = 127832)

I. Enowiedge, Information, wisdom, data [Option ID - 3XTEI)

1. Information, knowlsdge, data, wisdom [Opkicn 1D = Y2TES)

4. Data, knowledge, information, wisdom [Option 1D = 137E5)

Correct Answer --
% [Data, information, knowledge, wisdom |[Option 1D - 127E3)

&) An indispenzable function of Thesawrus is:

[Question ID = 8198]
1. Eroblem Solbving [Option 1D - 3XTH6)

1. Representation of relationsiip between concepts [Option 1D = X
4. Knowiedge Engineering [Option ID - 12789) mlﬂﬁhkﬂhcﬁm

Correct Answer -
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1. Daniel Bell [Opticn D = 127%0)
I. Mam June Paik [Option 1D = 32791)
3. Paul Purkowski [Option iD= 32F5]
4. 1. Martin [Option 1D = 12793)

Correct Answer -
& Mam June Patk [Option 1D = 3X791)

8) What is the frequency of Psychological Abstracts™?
[Question ID = 8200]

1. Fortmightly [Option ID = 327%94]

3. Weekly [Option ib - 13795)

1. Monthly [Option (0 = X2796]

4. Quarterly [Option 10 = 32797]

Correct Answer --
# Monthly [Option 1D = XX796]

) Which of the following principles of management corroborates the statement, “Library administration should create
environment which leads o harmony and wnity™?

[Question ID = 8201]

1. Espirit de Corps [Option 1D - 3X7T98)

2. Equity [Option ID - X¥799)

3. initiathve [Option ID = 32800]

4. Order [Option 1D - 32801]

Correct Answer -
® Egpirit de Corps [Option 1D = XXTRE)

10} Tag T60 in MARC deals with:
[Question ID = 8202 )
1. Main S=ries Entry [Option 1D | 12802)

2. The edition [Option 1D = J28]3)
3. The publication information [[Dpticn 1D = XE04)

4. A topical subject heading [Ogtion 1D = 3XBOS)

Correct Answer =-
# Main Series Entry [Option 1D = 12802)

11} ‘indian Mational Biblisgraphy' is arranged under two parts, General Publication and Publications

[Question ID = 8203]

1. Ebectronic [Option iD= 32806]

I. Brivate [Option ID = 1280F)

3. Mor-book [Option 1D = Y2B0H)

4. Govermmental [Option 1D = 33E0s)

Correct Amswer =-
# Govermmental [Option 1D = 33805

12) ‘Bharat Ki Sampada’ is a product of:

[Question ID = 82:04]

1. KHRA [Option D = 3X810)
I MISCAIR [Option ID = J2811)
1. IGHCA [Option ID = 1281)
4. KSR [Ogtion ID = 12811)
Correct Answer -
& MISCAIR [En:-tmn D = 12871 I]
13} Open System Interconnection (O50) is related to:
[Question ID = 8205)
1. Indexirg Rules [Option 1D = 12814]
1. Operating System [Option 1D = 13815]
3. Comemunication protocols [Option 1D = JZE18)
4. Datahase Design [Option 1D = 12817)
Coicach AR
& Comemunication n"ahn-:nu ['I:lntn:rl D = !HHI
L. R R i -FirstRanker-com - e
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q. F-u::we Optical Metwork [Option 1D = 22

Correct Amswer =-
# Cabling and Signal to End User [Option D = 32819

15) Stratified sampling is a combination of which of the following:

[Question ID = 8207]
1. CGuota and Clester [Option 1D = TXEXX)

I. Bandom and Clester [Option ID = XXEET)
3. Purpostee and Random [Option 1D = 12834)
4. Quota and Random [Option ID = 12835]

Correct Answer =-
& Purpostee and Random [Option 1D = 12824)

16) Mon-Sampling Errors are referred to as the ermors of!
[Cuestion ID = 8208)

1. Measurement [Option 1D = IZER)
I_ Ratio [Option 1D = IZEIT)

3. Probabitity [Option 1D = IZE2E)
4. Qualification [Option iD= X3E39]

Comect Answer -
& Measurement [Option 1D = JZERG)

17) SYSTRAM and LOGOS are:
[Question ID = 8209]

1. Translation tools [Option 1D = XERE0)
Z. Translation pools [Option 1D
3. Translation software [Option | = 12812]
4_ Systemn software [Option 1D < 12831)

Correct Amswer =-
# Translation software [Option i = J2R32)

18} The three distinct approaches Tor giving rEIENENCE SETYICE are: (4] CoONServalive approach, |b

[Question ID = 8210]
. Conventional approaches [Option 1D = 328 34)
Moderate approaches [Option ID = XIE15)

. Maximum approaches [Option 10 = 13EL4)
- Minimum approaches [Option 1D = 1Z837)

Correct Answer --
# Moderate approaches [Option ID = 3281%)

I liberal approach, and:

.hl.-r-—-

19} A reasoning where we start with certain particular statements and conclude with a universal statement is called

[Question ID = 8211]
1. Inductive reasoning [Option 1D = XI83H)

I_ Abnormal reasoning [Option 1D = 32819]
3. Deductive reasomning [Option 1D = 32840]
4. Transcendental reasoming [Option i = 12841

Comect Answer -
# Inductive reasoning [Option ID = 328 38)

20} The survey in which same people are interviewed two or more times is known as

[Question ID = 8212]
1. Trend study [Option ID = Y2B42]

1. Panel study [Option ID = 12841]
1. Descriptive study [Option 1D = 1iE44)
4. Cross sectional study [Option ID = 12845]

Correct Answer -
® Panel study [Option 1D = 12841)

21) The variable which can take any value in the range of the two variables is known as:
bt e o 2 BE 33

1. Dizcrete varzble [Option 1D = 32845)

¥ Continuous varisble [Option 1D - 12847] www_FirstRanker.com

3 fommetvarabte gt ket

4. Qualitative variable [Option ID = 12849]



FirstRanker.com
https://firstranker.com/
https://firstranker.com/

Al: FirstRanker.com
irstrankers cholc www.FirstRanker.com www.FirstRanker.com

22) To understand the IT based tools relevant to the work of today's researcher is known as:
[Question ID = 8214]

1. Resowrce Literacy [Option 1D = 13850]

I_ Publshing Literacy [Option 1D = 32851)

3. Tool Literacy [Option i = Y2852)

4. Besearch Litevacy [Option 1D = 12853]

Correct Answer =-
# Research Literacy [Option 1D = 12853)

23) ZTip's law basically deals with:

[Question ID = 8215]

- Productivity of scientists [Option 1D = 32854)

- Frequency of ocourrence of words [Option ID = 12E55)
. Publication of articles [Option 1D - XS]

- Citation of articles [Option 1D = IZEST)

T

Correct Answer --
# Freguency of ocourrence of words [Option 1D - XZE55)

24) Research process through which problem solving and self-directed learning skills are fostered is known as:

[Question ID = 8216]

1. Information Literacy [Option 1D = 33E5E)
I Computer Literacy [Option 1D = 128559
3. Dugital Literacy [Option 1D = 33Es&0)

4. Media Literacy [Option 1D = 3ZB&1)

Correct Answer -
# Information Literacy [Option

25) The multilingual th ol IMIS is maintained in:

[Question ID = 8217
1. 14 Langusges [Option ID = 14843]
I_ & Languages [Option 1D = 138463]

3. 10 Languzges [Option ID = 138&4]
4. 11 Languages [Option 1D = 1

Comect Amswer -
# & Languages [Option ID = 12863]

26) In ‘Bigh’ information literacy model, which skill discusses the critical thinking of appropriate product for bibliographic

citations?

[Question I = 8218]

1. Location and access [Option 1D = 32B66)
I. Use of information [Option 1D = IZB&T)
1. Synthesis [Option ID - XZBRGE]

4. Evaluation [Option ID = 12889

Correct Amswer =-
® Synthesis [Option 1D = XXBGE]

27) Which of the following Information Source is not considered as Grey Literature?
[Question ID = 8219]

1. Bamphiet [Option ID - 12870]

2. Mandbook [Option ID - 12471

1. ‘Working Paper [Option 1D = JZETZ)

4. Brochure [Option ID = 32E71)

Correct Answer --
& Handbook [Option 1D = 313E71]

28) Odd o gt

[Question ID = 8220]

1. Turnitin [Option 10 - 12874

1. E-Shodh Suddhi [Option I = 12675]
3. Urkund [Option ID - 12574)

4__Shodhsindhy [Ootion a0 o 12A77]
Correct Answer o= www.FirstRanker.com
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1. Publuhing Information Aegulardy [Option 1D - 13E80)
4. ‘Web Designers Information [Option 1D = T2EET)

Correct Amswer =-
# Publihing information Regulary [Option 10 = XIEE0)

30) “Cyber Space” term was introduced by:
[Question ID = 8222 ]

. ‘William Gibson [Option |0 = JXEAZ)

- Hill Gates [Option 1D = Y2BRY)

. Donald Meuth [Option 10 = Y2EEL)

- lrish Mitty [Opeion 1D = YTEES)

T

Correct Answer =-
& ‘Williami Gibson [Optisn 1D = T2EEZ]

31) Buying and selling in the marketing functions are categorized as

[Question ID = 8223]

1. Facilitating functions

[Option b = J3ER&]
I Exchamge functions

[Option il = J2EET]
1. Distribution functions

[Ootion 1D = JEEE)
4. All of these

[Opticn ID - 12EEY]

Correct Answer =-
# Exchamge functions
[Option il = J2EET]

32) Who developed the SiX Frames Tor Informanion Literacy DOUCation ¢
[Question ID = 8224]

1. Bobert E.Bevkowitz [Option D = TEES0]

¥. Carol Huhithew [Option 1D = 33891)

1. Sumie Andretta [Option 1D = XXR9T)

4. David Loertscher [Option 1D = 32891

Correct Answer -
% Sumie Andretta [Option 1D - XXE9Y)

33) The act of collating, tabulating, classifying and drawing inferences from the gathered data is called:
[Question ID = 8225]

1. Enowiedge sharng [Option 1D = 33854

I_ Data Processing [Option 1D = 12E95)

3. Information sharing [Option 1D = 328%:)

4. Data sharing [Option 1D = TXEST)

Comect Answer -
# [ata Processing [Option 1D = 32E35)

34) The number of pieces of independent information that are required to compute some characteristic of a given set of

observations is called:

[Question ID = 8226]

1. Degrees of Estimation [Option ID = 3385E)

1. Degrees of Expected Frequency [Option I = 128949)
3. Degrees of Freedom [Option (D = 33%00)

4. Degrees of Frequency [Option 1D = 12901]

Correct Amswer =-
# [Degrees of Freedom [Option 1D = 12900]

Bk e i e i,

[Question ID = 8227]
1. A lorgftudinal research [Option 1D - 12902) www.FirstRanker.com

1. A ressarch with socioeconomic objective [Option 1D = TF04)
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36) Which of the following is not an open source Learning Content Management System!?

[Question ID = 8228]

1. Dokeos [Option ID = 1200)
1. Moodle [Option ID = 12%07)
3. Mecbo [Option 1D = TX808)

4. Claronline [Option D = X10%]

Correct Answer --
# Meebo [Option 1D = JR808)

37) The relation between mean, mode and median can be expressad as:

[Question ID = 8229]

. Mode = I Median- 3 sean [Option 1D = 32910]
. Mode = 1 Sean - Median [Option 1D = 32911]
. Mode = 1 Median - 1 Mean [Option 1D = 32913
. Mpde = Mean - 1 Median [Option 1D = 12913)

.hl.-H—-

Correct Amswer =-
# Mode = 3 Median - 2 Mean [Option 1D = 12813)

38) Real Time Access refers to

[Question ID = 8230]
1. Acoess when searched for

[Option b = 32914]
I Acoess in o advance

[Ootion 1D = 33915)
3. Access after some Eime

[Option b = 32914]
4. Mone of these

[Option 1D = 12917]

Correct Answer -
& Aprets whien s=arched for

[Option 1D = 12914]

39) Palyglot dictionary provides meaning in

[Question ID = 8231]
1. English - Frendh

[Option I = 32518]
I. English - German

[Opticn ID = 12%91%)
3. many languages

[Option il = 339034]
4. Mome of these

[Cotion 1D = 33%21)
Correct Answer --
# English - German
[Cotion 1D = 33919

40) In PRECIS role operator Zera (0) is allotted far:
[Question ID = 8232]

1. Matter [Option 1D = 12937F)

1. Ohject [Dption iD = 13%31]

3. Place [Option ID = 12924)

4. Action [Option 1D - 32035]

Correct Answer -

& Action [Option ID = 12925]

4 Hal e i infermation Schenee-relates b
[Question ID = 8233]
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Correct Amswer =-
& Eate of Obsolescence [Option ID = X190T)

42) ERIC is sponsored by:

[Question ID = B234]

1. Mealth Science information, USA [Option 1D = XF950)

I. Department of Education, Govt. of USA [Option B = 32931]
3. FSA Mational Mealth iretitute [Option 1D = 12032)

4. Heath Services Division, ALA [Option 1D = 12933]

Correct Answer -
® [Oepartment of Education, Govt. of LS [Option 1D = 12971]

43) Which ane of the following is not a Total Quality Management Tool?
[Question ID = 8235]

1. Histograms [Option 1D = X934

?. Control Charts [Option D = 13915)

3. Graphs [Option ID = 12934

4. Pareto Charts [Option 1D = 12837]

Correct Answer --
# Graphs [Option 1D = 32934)

44) Which of the following research methods is useful in a study on measuring the active life of periodicals?

[Question ID = 8236]

1. Survey [Option 1D = 12908

I. Interview [Option 1D = 32959)
1. Citation Analysis [Option iD
4. Case study [Option 1D = 13%4)1]

Correct Amswer =-
# Citation Analysis [Option iD 4 TX8ad)

in terms of certain

45) Which type of r describing two or more entities of the same nature, which are compa

predefined parameters?

[Question ID = 8237

1. Dagnostic Research [Option 1D = 13%42]
I. Comparative Besearch [Option 1D = X3%41]
1. Exploratory Research [Option 1D = 32944]
4. Action Besearch [Option 1D = 13545]

Correct Answer --
# Comparative Research [Option 1D = TX541]

46} The number of pieces of independent information that are required to compute some characteristic of a given set of

observations is called:

[Cuestion ID = 8238)

1. Degrees of Expected Frequency [Option 1D = 12948)
I_ Degrees of Estimation [Option ID = 327547)

3. Degrees of Freedom [Option 1D = 13%54E]

4. Degrees of Frequency [Option 1D = 32949]

Comect Answer -
® [Oegrees of Freedom [Option 1D = 32%548)

47} W the size of the study population is very small, the following sampling method will give better results.
[Question ID = 8239]

1. Stratified [Dption iD= 12950]

I_ Purposive [Option iD= 3F951)

3. Randcen [Option B - 12052

4. Cemsus [Option 1D = X1%953)

Correct Answer -
® Purposive [Option 1D = X2951]

b Tde shod ko bow b rsis el bttt s Gl o o s ded mec e b b e e b s L e destme bl
dinal variables is known
m;: ID = 8240] = www.FirstRanker.com

1. Cormelation cosfficient [Option 1D = 32954)
r. Conki measure [Ootion 1D = 123955
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& Chil Square [Option 1D = 13558
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49} The Bradford's law is related with:
[Question ID = 8241)

- Scattering of articles in journals [Dption 10 = 13958)
- Scatterirg of citations in joumals [Option 1D = 13955)
- Scattering of refernces in pournals [Option 1D = 329e0)
- Scattering of usage of journals [Option 1D = X2981)

.hl.-'l"'l'—'

Comect Amswer -
# Scattering of articles in journals [Option 1D = 32958)

50) Citation Styles refer to:
[Question ID = 8242 ]

- Citation oounts [Option 1D = 3Psad]
. Beference rendering [Option D = 1X943]
. Citation analysis [Option 1D = 12064]
- Style of tewt [Option 1D = XF945)

.hl.-'l"'l'—'

Correct Amswer =-
# EBeference rendering [Option 1D = XX981)

» Ei er.com www_FirstRanker.com

Firstranker's chaice



FirstRanker.com
https://firstranker.com/
https://firstranker.com/

